The Wisdom Global School
QUICK MATHS WORKSHEET

Topic : Division by 11

TIME-
Divide-
1) 5+11= 2) 7+11 = 3) 12+11 =
4) 34+11= 5) 45+11= 6) 78+11=
7) 89+11= 8) 73+11= 9) 67+11=
10) 36+11= 11) 64+11= 12) 91+11=
13) 81+11= 14) 122+11= 13) 145+11=
16) 174+11= 17) 181+ 11= 18) 189+11=
19) 2324+11= 20) 2023+11= 21) 2867+11=
22) 9876+11= 23) 8745+11= 24) 5635+11=
25) 9987+11= 26) 7765+11= 27) 5036+11=
28) 5767+11= 29) 6634+11= 30) 7798+11=




31) 4056+11= 32) 7456+11= 33) 7666+11=

Q 1- Linda walked 24 miles in 11hours. What was the distance covered by her in one hour?

Q 2- Robyn, a programmer, had a few important files saved on her computer. The space
occupied by the files was 8987 megabytes in all. If each file used a memory of 11
megabytes, how many flies were there?

Q 3-Jessie went to the candy shop and bought 2267 pounds of candies. She divided the
candies equally and packed them in boxes. If each box of candies weighed 11 pounds, how
many boxes did Jessie use to pack the candies?

Q 4- Rajni purchased 11 toffees for Rs. 784. How much money Geeta has is pay for 18
toffees of the same quality?

Q5 - 2256 litres of milk can be stored in 11 cans. How many litres of milk can be stored in
50 cans.




Q6- 11 members of a hostel consume 7676 g of sugar, how much sugar will be commumed by 18 .
members?

Q7- The 11 shelves in the library have 6060 books all together. If there is an equal number of books on each
shelf, how many books are on each shelf?

Q8- The weight of 11 laddoos is 6 kg. Find the weight of 18 laddoos.

Q9- A box of pears weighs 252 kg. If one pears weighs 11 pounds, how many pears are there in the box?




